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'Description ! rmation Script

theView=av.GetActivcDoc
theThemes=theView.GetThemes

Tkkkkkkrkkkkxk Selected rheme TO V|S|b|e *kkkkkkkkkkkk

ContourTlieme=theTliemes. Get(0)
StreaniTlieme=theThemes.Get( )

NoOfTheme=0

for each i in theThemes
. SetActive(false)
end

for each I in theThemes
.SetVisible(true)
NoOfTheme=NoOfTheme+1
if (NoOfrheme=4) then
Break
end
end

*kkkkkkkkkkkxk User &;ale kkkkkkkkkkkkkkk

av.Run("ZoomToScale",nil)

|nputData kkkkkkkkk Rk Kk Rk Kk
av.Run("InputData",nil)



|**'k*'k'k**'k***'k Select Stream Data *kkkkkkkkkk

StreamTheme. SetActive(true)
ContourTheme. SetActive(true)

MsgBox.ListAsString({" (Stream)
(Contour)
Select Feature "},
'Description :ZoomToScale Script
while (true)
Coor=MsgBox.Multilnput(" UTM ",
XC oYy,

{"0'1'0'1"40000))

if (Coor.Count=0) then
Exit

end

if ((Coor.Get(0).isNumber) and
(Coor.Get().isNumber) and
(Coor.Get(2).isNumber)) then

break
end

theView = av.GetActiveDoc
X=Coor.Get(0). AsNumber
Y=Coor. Get( 1). AsNumber
Scale=Coor.Get(2). AsNumber
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d = theView.GetDisplay
d.PanTo(X@Y)

theView.GetDisplay.ZoomToScale(Scale)
'Description ! putData Script

|nput Case S|0p and Inferest *Fxtxtxkkkkkkkkkas

while (true)
alnput=MsgBox.Multilnput(". 2.

roo 0
{ ,'0'10")

if (alnput.Count=0) then
Exit
end

if ((alnput.Get(0).isNumber) and (alnput.Get(]).isNumber)and
(alnput.Get(2).isNumber)) then
if ((alnput.Get(O).AsNumbei*) or (alnput.Get(0). AsNumber=2)) then
break
end
end

end
_Case=alnput.Get(0). AsNumber
_Slope=alnput.Get( 1). AsNumber



_Interest=alnput. Get(2). AsNumber
'Description Hydrology Script

'Description : Selection By Polygon and
'Calculation Area

'Request : Polyline Shape and Polygon Graphics

'‘Retun  :_RA,_DA,JLengthOfDam, Elev

theView = av.GetActiveDoc
theView.GetGraphics.Empty
theView.Invalidate

i (System.IsShiftKeyDown) then
op=#VTAB_SELTYPE OR
else
op=#VTAB SELTYPE NEW
end

Pg = theView.RetumUserPolygon
i (Pg.ISNull) then
return il
else
gl = GraphicShape.Make(Pg)
theView.GetGraphics.UnselectAll
0l.SetSelected(TRUE)
theView. GetGraphics.Add(gl)
av.GetProject. SetModified(true)

theGraphics = theView.GetGraphics.GetSelected

|'k'k'k'k'k'k* Theme khkkkkkkkkkkkkkkrkkkkhkkhhkxkkkxk*

theThemeContour=theView.FindTheme(" ")



theThemeForest=theView.FindTheme("
theThemeSoil=theView.FindTheme(" ")
theFtabContour=theThemeContour. GetFtab
theFtabForest=theThemeForest. GetFtah
theFtabSoiHheThemeSoil. GetFtab

theFieldE_Name=theFTabSoil.FindField("E_Name")
theFieldFor_Type=theFTahForest.FindField("For_Type")
theFieldName_t=theFTabForest.FindField("Name_t")

theBitmap=theFtabContour. GetSelection

if (theBitmap.Count=0) then
Exit

end

'theView. GetGraphics.Empty

theShape=theFtabContour. FindField("Shape")
theElev=theFtabContour.FindField("Elev")

if (theThemeContour.CanSelect) then

prrxRekek nor Qne Pirst Selection Data *****+x*+

MP2=PolyLine.MakeEmpty

for each X in theBitmap
anewGraph=theFtabContour.Retumvalue(theShape, x)
_Elev=theFtabContour.RetumValue(theElev,x)
MP2=MP2 RetumMerged(anewGraph)

end

GraphicShape. Make(MP2)
else exit



end

al_Int=Pg.Linelntersection(MP2)
checkint=Pg.Paintintersection(MP2)
aPolygon=aL_Int.AsMultiPoint

if (checkint. Count<>2) then
Exit
end

BeginPolyGon=checkint AsList
myLine=Line.Make(BeginPolyGon.Get(0),BeginPolyGon.Get( 1))
_LengthOfDam=myLine.RetumLength

aListofPg={}
for each i in (0..(aPolygon.Count-1))

alistofPg=aListofPg.Add(aPolygon.AsList.Get(i))
end

myPolygon=Polygon.Make( {aListofPg})
gmyPolygon=GraphicShape.Make(myPolygon)

theView.GetGraphics.Add(gmyPolygon)
theView.Invalidate

_DA=Pg.RetumArea
_RA=myPolygon.RetumArea

end

aE Name={}
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.******** Select SO” Theme by RA Area kkkkxkkkkkkkkkkk

if (theThemeSoil. CanSelect) then
theThemeSoil.SelectByShapes({myPolygon} #VTAB_SELTYPE NEW)
SelectedSoil=theFtahSoil GetSelection
if (SeleetedSail. Count=0) then
MsgBox.infoC'No Soil Data",")
else
for each i in SelectedSoil
_aE Name=aE_Name.Add(theFTahSoil.RetumValue(theFieldE_Name,i))
end
Msgbox.ListAsString( aE_Name," "' ")
end
end

aResultForest={}
kkkkkkkkk Select Fores'[ Theme by RA Area kkkkkkkkkkkkkkkkkkkk
if (theThemeForest.CanSelect) then
theThemeForest.SelectByShapes( {myPolygon}#VTAB_SELTYPE NEW)
Selectedrorest=theF TabForest. GetSelection
if (SelectedForest.Count=0) then
MsgBox.infoC'No Forest Data",")
else
for each i in SelectedForest
aName=theFTabForest. ReturnValue(theFieldName t,)
aFor_type=theFTabForest RetumValue(theFieldFor type,i)
_aResultForest=aResultForest.Add(aName-H-aFor_type)
end
Msgbox.ListAsString(_aResultForest" " ")
end
end



tk*-k***s':k* Calculatlon Requrestwater kkkkkkkkkkkkkkkkkkkkkkkkkk
av.Run("RequrestWater",Nil)

.******** Ca|CU|at|0n Malncalculatlon kkkkkkkkkkkkkkkkkkkkkkkkk
av.Run("MainCalculation",Nil)

'Description :RequrestWater Script

'Descript : Calculation from Selection River, Make Buffer and
'Select Tambon Theme , Select Vallage Theme by Tambon

'‘Requrest : Selection River,Input Distance Buffer

'‘Return : Number of Population in Impact Area

_theView = av.GetActiveDoc
theTheme=_theView.FinaTheme("40y ")
theFtah=theTheme. GetFtab

theBitmap=theFtab. GetSelection

" theView.GetGraphics.Empty

if (theBitmap.Count=0) then
Exit
end

theShape=theFtab.FindField("Shape")
if (theTheme.CanSelect) then
_Mp2=Polyline.MakeEmpty

for each x in theBitmap

anewGraph=theFtah.Retumvalue(theShape )
_Mp2=_Mp2 RetumMerged(anewGraph)
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end

|***************** Buﬁer ‘ﬂ*********************

Buffi=500
Buff2=1000

BuffMP 1=_Mp2.RetumBuffered(Buffl)
Buff Mp2=_Mp2.RetumBuffered(Buff2)
G_Mp2=GraphicShape.Make(Buff_Mp2)
_theView.GetGraphics.UnselectAll
_theView.GetGraphics.Add(G_Mp2)

G_Mp2.SetSelected(TRUE)
_theGraphics =_theView.GetGraphics. GetSelected

1={}
for each gin_theGraphics

|. Adal(g.GetShape)
end

ThVillage=_theView.FindTheme(" )
FTabVillage=ThVillage.GetFTab
FieldVill=FTabVillage.FindField("Pop_total")

aRelType=#FTAB_RELTYPE ISCOMPLETELYWITHIN
aDistance=0

aSelType=HVTAB_ ELTYPE NEw

total_Pop=0

if (ThVillage.CanSelect) then
ThVillage. SelectByShapes(l,#/TAB_SELTYPE _NEW)
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if (ThVillage.CanSelect) then

ThVillage.SelectByPolygon (Buff_Mp2,#VTAB_SELTYPE_NEW)
end

end
theSelecVi=FTabVillage. GetSelection

for each x in theSelecVi
PoP=FTahVillage.Returnvalue(FielaVill,x)
total_Pop=total Pop+Pop

end

_theView.Invalidate

else exit

end
_TotalPop=total Pap

'Descript : Calculation WaterPop,WaterAnimal,

'Requrest : WaterPop=60 Lite/ple/date, WaterBuf=50 lite/Pig/date,
'WaterPig=200 lite/Buf/clate, WaterDurk=0.15 lite/Durk/date,
Tish=0

'Retun  ; WaterPop, WaterAnimal,

_WaterPop=(_TotalPop*60*30*6/1000).SetFormat( “d.dd")
_WaterBuf=(0.25* TotalPop*50*30* 12/1000).SetFormat( “d.dd")

_WiaterPig=(0.2* TotalPop*20*30* 12/1000).SetFormat( “d.dd")
_WaterDurk=(3* TotalPop*0.15*30*12/1000).SetFormat( "d.dd")

_AreaPop=(Buff_ Mp2.RetumArea).SetFormat( "d.dd")

ArealRR=(BuffMPI RetumArea).SetFormat( “d.dd")
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AreaRice=(0.2*ArealRR).SetFormat( "d.dd")
AreaFarm=(0.1 *ArealRR).SetFormat( "d.dd")

_WaterRice=(AreaRice* 1230/1600). SetFormat( "d.dd")
_WaterFarm=(AreaFarm* 1070/1600). SetFormat( “d.dd")

_SumWater=(_WaterPop+ WaterBuf+ WaterPig+ WaterDurk+ WaterRice+ WaterFarm).Set
Format( "d.dd")

'Description : MainCalculation Script

'Main Calculation Data

'Global Var = DA,JRA\Vin,_Caes, Slope, Interset, Elev, theView
' SL, SumWater, WaterFarm, WaterPop, WaterRice
" EL, WaterBuf,_waterDurk, waterPig,LengthOfDam

kkkkkkkkkkkkkkkk Calculatlon V kkkkxkkrkkkkkkxkkkkkkkkk%

kkkkkkkkkkkkkkk P"-St |terat|0n kkkkxkkxkkkkkkkkkkkkkkkk

'Description :V Script

'Description Calculation V
Request : RAH, Case

(t*****'k******'k*** Calculatlon V kxkkkkkkkkxkkxkkkkkkkk

H=20

if (_Case=l) then
V=H* RA/3
end

if ( Case=2) then
V=H* RA2



end

Hrkkk Qot0 S-SD Script Calculation R, InFlow 3/in***#+*
'Description :SD-S Script

'Description Calculation SD, ¢
'Request :_RA, DAV, Slope

t********si?****** Ca|Cu|at|0n SD C kkkkkkkkkkkkkkkkkkkk

'Description Selection Coefficient (C)
‘Request = 1129 mm., =540 mm/mA,
'E = 5524560,
'InFlow(May-Oct) = 238600 m.A3/km.A2

if (_DA<1000000) then
if (_Slope<=3) then
¢=0.225
end
if (_Slope>8) then
¢=0.400
else
035
end
end

if (_DA>=1000000)and(_DA<=5000000)) then
if (_Slope<=3) then
¢=0.225
end
if (_Slope>8) then
¢=0.375
else
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c=0.275
end
end

if ((_ DA<5000000)and(_DA<=10000000)) then
if (_Slope<=3) then
€=0.200
end
if (_Slope>8) then
¢=0.325
else
¢=0.225
end
end

if (. DA>10000000) then
if (_Slope<=3) then
00.15
end
if (_Slope>8) then
00.3
else
00.2
end
end

"MsgBox.InfoQ'Coefficient ¢ = "+C.AsString,"Coefficient")

SD=200* DA/1000000*30
R=c*1129* DA/L000000* 1000
_EL=(552+560)* RAJ2000
SL=540% RAJ2000
InFlow=238600% DA/L000000
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_Vin=(R-Min(InFlow)).SetFormat( "d.dd")

kkkkkkkkkkkkkkk CheCk V and Vln *kkkkkkkkkkkkkkkkkkkkkk

while (true)
if (V<=_Vin) then
Break
end

17 QjQk
H=H-1
V=av.Run("V",{H})
if (H=4) then
MsgBox. Info(" "N+
" 400 "+NL" ")
Break
end
end 'Exit Check V
MsgBox. Info(" N1+
" "NL," ")

Fakioekick Calculation and  atcrGian **kkkkkkkiokekekek
_S=(V-_SD).SetFormat( "d.dd")
_WaterGian=(_Vin+_ - EL- SL).SetFormat( "d.dd")

kkkkkkkkkkkkkkk ChECk Vln and SumWater *kkkkkkkkkkkkkkkkk

MsgBox.infoC" ")
while (true)
if (Vin>_SumWiater) then
MsgBox.infoC" "-(NL+
" "tNL," ")

BuffMPI=_Mp2.RetumBuffered(500)
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GMp 1=GraphicShape.Make(BuffMP 1)
_theView.GetGraphics.Add(GMpl)
ArealRR=(BuffMPI.RetumArea).SetFormat( "d.dd")
AreaRice=(0.2*ArealRR).SetFormat( "d.dd")
AreaFarm=(0.1*ArealRR).SetFormat( "d.dd")

break
else
for each 1n 450.. 100 by -50
BuffMPI=_Mp2.ReturnBuffered(i)
GMp 1=GraphicShape.Make(BuffMP 1)

'************A,/\g Buffer *kkkkkkkkkkkkk
ArealRR=(BuffMPI.RetumArea).SetFormat( "d.dd")
AreaRice=(0.2*ArealRR).SetFormat( "d.dd")
AreaFarm=(0.1*ArealRR).SetFormat( "d.dd")
_WaterRice=(AreaRice* 1230/1600).SetFormat( "d.dd")
_WaterFarm=(AreaFarm* 1070/1600). SetFormat( "d.d")
_SumWater=(_WaterPop+ WaterBuf+ WaterPig+

_WaterDurk+ WaterRice+ WaterFarm).SetFormat( “d.dd")
if0=100) then
_theView.GetGraphics.Add(GMpl)
_theView.Invalidate
MsgBox.infoC" 100 NI+
" ="+ SUmWater.AsStrmg,

Exit
end
end
end
end 'Exit Check SumWiater
_SumWaterLife=_SumWater+ WaterBuf+ WaterPig+ WaterDurk+ WaterFarm



_umWaterVegetaion=_ aterRice+  aterFarm
DA=(_DA/1000000).SetFormat( "d.dd")
RA=(_RA/).SetFormat( "d.dd")
_ArealRR=(ArealRR/1 600).SetFormat( "d.dd")
_AreaPop=(_AreaPop/1600).SetFormat( "d.ad")
_AreaRice=(AreaRice/1600).SetFormat( "d.dd")
_AreaFarm=(AreaFarm/1600).SetFormat( “d.dd")

MsgBox.ListAsString({" = "tDAAsString++" ",
" = "tRAAsString++" . ",
" ="+ AreaRice.AsString++" ",
" ="+ AreaFarm AsString++" ",
" ="+ ArealRR AsString++" ",
" ="+ AreaPop.AsString++" ",
="+ TotalPop. AsString++" "},

MsgBox.ListAsString({" - ="+ WaterPop.AsString++"
" ="+ WaterBuf AsString++" . ",
="+ WaterPig.AsString-H-" . ",
" ="+ WaterDurk AsString++" . ",
" ="+ WaterRice. AsString++" . ",
="+ WaterFarm AsString++" . ",
="+ SumWater AsString++" . ."},

Yhkkkkkkk Calculatlon Qm Qout *kkkkkkkkkkkkkkkkkkkkkkkk

'Description :Q Script

'Description : Calculation Qin
Request DA



|******************** Ca|CU|at|0n an IR RS R SR SR EEEEEEEEEE]

if (. DA<=10000000) then
Qi=6.4

end

if (_DA>10000000)and(_DA<=20000000)) then
Qi=4.3

end

if ((_DA>20000000)and(_DA<=30000000)) then
Qi=3.3

else
Qi=2.7

end

Qin=Qi* DA/I000000

'Description : Calculation Qout
'Request : DA, RA

kkkkkkrkkkkkrkkkkkkk Calculatlon Qout *kkkkkkkkkkkkkkkkkk

T= RA/ DA

if (T<0.025) then
Qout=Qin*((T* 100)A-0.12))

end

If (T>=0.025) then
Qout=Qin*((T* 100)A-0.35))

end

_V=V.SetFormat( "d.da")
_H=H.SetFormat( "d.dd")
_InFlow=InFlow.SetFormat( "d.dd")



R=R SetFormat( "d.dd")
Qin=Qin.SetFormat( "d.dd")
Qout=Qout, SetFormat( "d.dd")

MsgBox.ListAsString({" ! ="+ HAsString++" ",
" ="+ V. AsString-H-"
="+ SD.AsString++"
="+ S.AsString++"
=" RASStrmg+" . ",
="+ EL AsString++"
1 ="+ SL AsString-H-"
="+ InFlow.AsString++"
="+ WaterGian AsString++"
="+ QinAsString++" . ./
="+ QoutAsString++" . [ '},

" ek plIon Structure
'Description :Structure Script

Description :Calculation Dam

Request  :H,Qout, SD,V, Case, SL, EL, Elev
"RA, SumWater,_LengthOfDam

Return  :Inlet, SHHT

I******** *kkkkk QheCk Jnlet *kkkkkkkkkkkkkkk

if (Qout>50) then
Inlet=2
else
Inlet=2.8

end
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SH=H-Inlet

Phkkkkkkkkkkkkkk Qa| VX kxkkkkkkkkkkkkkkkkkkk

M=((_SL+_EL)/2000)( RAJ(V.Sqrt)

N=_SD+ umWaterLife
VX=((M+((MA)+(4*N)).Sart)2) R

t*************** QaJ kkkkkkkkkkkkkkkkkkkkk

RR=_RA¥((VXIV).Sqrt

|****~k*~k******** HT kkkkkkkkkkkkkkkkkkkkk
if (_Case=I) then
HA=3*(VX/RR)
end
if (_Case=2) then
HA=2*(VX/RR)
end

HT=HA+Inlet

kkkkkkkxkkxkkkkk LD khkkkkkkkkkkkkkkkkkkkk

LD=_LengthOfDam*((H/HT).Sqrt)

Ic* é*fgr******** Qal /\/' kkkkxkkkkkxkkkkkkrkkxk

(HI5)+3

'Description :Calculation Gate Valve
'‘Request  :HT,H,AreaFarm, AreaRice,
'‘Retum TypeGate, DiaPipe,LA



t************** £aj Type Gate Va'Ve *kkkkkkkk
if (HT<=7) then
TypeGate-YIS " "
end
if (HT>7) then
TypeGate="" !
end

R'k*'k'k*'k'k5*'k*'k* QrQ D|aP|pe kkkkkkkkkxkkxkkxk

AT=_AreaRice+ AreaFam
if (AT<=2000) then
DiaPipe=040
dlse
DiaPipe=0.60
end

kxkkkkkkkkkkkkk Qal LA kkkkkxkkrkkkkkkkkxkkkkk

if (HT<=5) then
LA=(I*H/3)+12
else
LA=(58*H/3)+I 1
end

'Description :Calculation Inlet
'Request :HT,Qout, Elev,Inlet,AreaFarm,AreaRice
Retum  :LC,LS,HS,Qmax

5************* |n|et*******************

if (Inlet=2) then
InletText="Box Inlet"
ese
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InletText="Straight Inlet"
end

t’k************* £2| Qmax kkkkkkkkkkkkkkkkkxkk

if (Qout<=20) then
Qmax=20
1MsgBox.info("Qout<=20","")
else
" MsgBox.info("Qout="+Qout.AsString,")

Qmax=av.Run("Round 10",Qout)
end

Ic**tk*********: JHS kkkkkrkkxkkkkkkkkxkkkkk

EleDam=_Elev+2
EleFloor=EleDam-HT
HST=EleDam-EleFloor-Inlet

if (HST<=5) then
HS=5
end

if (HST>5) and (HST>=7.5)) then
HS=7.5
end

if (HST>7.5) then
HS=10
end

t**&*********** kxkkkkkkkkkkkxkkxkkxk k%

if (Inlet=2) then

113



=Qmax/4
end
if (Inlet=2.8) then
=Omax/35
end

|$Wﬁ$$( LG *rrrkkkkttarkkkbttathkk
LC=(AreaFarm+AreaRice)/| 600/500

_ SH=SH.SetFonnat( "d.dd")
_vx=vx. SetFormat( "d.dd")
_RR=RR.SetFormat( "d.dd")
HT=HT.SetFormat( "d.dd")
_LD=LD.SetFormat( "d.dd")
_W=W.SetFormat( "d.dd")
_TypeGate=TypeGate
_DiaPipe=DiaPipe.SetFormat( "d.dd")
_LA=LA SetFormat( "d.dd")
InletText=InletText
_Qmax=Qmax.SetFormat( "d.dd")
_HS=HS.SetFormat( "d.dd")
_s=SetFormat( "dd")
_LC=LC.SetFormat( "d.dd")

MsgBox.ListAsString({"
' ="+ Elev.AsString+" ",
="+ SHAsString-H-" ",
" ="+ VXAsSting+" . ",
" ="+ RRAsString-H-"
" ="+ HTAsString-H-" "
" ="+ LengthOfDam.AsString-H-"
" ="+ WAsString+f* ",



"+_TypeGate,
) ="+)DiaPipe. AsString++" ",
’ ="+ LAAsString++" .,

" "+ InletText,

" ="+ QmaxAsSting-H-" ./ "
" ="+ HSAsString++" ",

' ="+_WS.AsString++" ",

" ="+ |CASStingH" .,
n II'II Il)

*kkxkkkkk Ca|CU|at|0n ESt'mate kkkkkkkkkkrxkkkkkrkkxkkrkkx

'Description :Estimate Script

'Description :Calculation Estimate
'Request :HT,LD,LA, ,HS,Inlet,LC,H,DiaPipe,HST
'Return  :SumCost CostDam,Costlnlet, CostGate, CostCanal

'Description :Calculation Estimate Dam
'Request  :HHT,LD
'‘Retun:FillSoil,Cut,Sand,BaseCost, Grade, Rack, Geatixti

kkkkkkkkkkkkxkkkk ga] £& Dam H > S(D m kxkkkkxkkxkkkkkkk

if (H>5.00) then
FillSoil=0.77*_LengthOfDam*((2.95*(HA2))+(1.56*H))
Cut=0.1*_LengthOfDam*((2.95*(HA2))+( L56*H))
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Sand=(0.67*_LengthOfDam*(3.33+(1.44*H)))+(0.42*_LengthOfDam*H)
Laterite=JLengthOfDam*(0.60+(0.04*H))
Grasses=I.79* LengthOfDam*H
Rock=(0.21* LengthOfDam)+(0.56* LengthOfDam*H)
Geotextile=(Sand/0.15)+(Rock/0.6)

end

kkkkxkkkkkkkkkkkk Cq] ($$ Dam H > 500 m kkkkkkkkkkkkkkkkk

if (H<=5.00) then
FillSail=0.77*_LengthOfDam*(0.45+(5.40*H))
Cut=0.1* LengthOfDam*(0.45+(5.40*H))
Sand=0.67* LengthOfDam*(3.75+(1.35*H))+(0.42*JLengthOfDam*H)
Laterite=_LengthOfDam*0.80
Grasses=1.79* LengthOfDam*H
Rock=(0.21* LengthOfDam)+(0.56* LengthOfDam*H)
Geotextile=(Sand/0.15)+(Rock/0.6)
end

FillSoil=FillSoil*51.55

Cut=Cut* 15.29

Sand=Sand*207.17

Laterite=Laterite*60.66

(Grasses=Grasses*39.50

Rock=Rock*402

Geotextile=Geotextile*50
CostDam=(FillSoil+Cut+Sand+Laterite+Grasses+Rock+Geotextile)
_CostDam=CostDam.SetFormat( "d.dd")

t*‘k******‘kir******* Calculatlon Gatcvaluc kkkkkkkxkkkkkkkkkxkk

'Description :Calculation Estimate GateValue
'Request :HT,DiaPipe,LA



'Retun  :CostGate

if (HT<=7) then
i (DiaPipe=0.4) then
CostGate=8580*LA
end
if (DiaPipe=0.6) then
CostGate=17688*LA
end
end
if (HT>7) then
if (DiaPipe=0.4) then
CostGate=10296*LA
end
if (DiaPipe=0.6) then
CostGate=20196*LA
end
end

_CostGate=CostGate. SetfFormat( "d.dd")

kkkkkkkkkkkkxkxkkkxkxk Calcu|at|0n |n|et kkkkkkkxkkxkkkkkxkkxkk

'Description :Calculation Estimate Inlet

'Request :Inlet,HST,
'Return :Costinlet

if (Inlet=2) then
if (HS=5.0) then

Costinlet=1.331+(0.173*

end
if (HS=7.5) then

Costlnlet=I.260+(0.215*

end

)

)
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if (HS=10) then
Costinlet=2.112+(0.201* )
end

end

if (Inlet=2.g) then
if (HS=5.0) then
Costlnlet=2.331+(0.090*WS)
end
if (HS=7.5) then
Costlnlet=2.871+(0.112*WS)
end
if (HS=10) then
Costinlet=3.300+(0.136* )
end
end

_Costinlet=(Costinlet*(1046)).SetFormat( “d.dd")

|********************* Calculatlon Canal kxkkkkkkkkxkkkkkkkkkxk

'Description :Calculation Estimate Canal
Request :LC
'Retum  CostCanal

_CostCanal=((LC*306520)+(LC*241560)). SetFormat( "d.dd")
SumCost=(_CostDam+ Costinlet+ CostGate+ CostCanal)
_SumCost=SumCost.SetFormat( "d.dd")

MsgBox.ListAsString({" ="+ CostDam.AsString-H-"
" ="+ Costinlet AsString+4-"
" ="+ CostGate.AsString++"
" ="+ CostCanal AsString++" ",
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! ="+_SumCostAsString++" "},

)******** Ca.|CU|at|0n Gam krkkxkkkkkkkkkkkkkkkkxkkkkkkxk

'Description :Gain Script

'Description :Calculation Gain
'Request :_RA AreaFarm,AreaRice,V
'‘Return iSumGain

_GainRice=(_AreaRice*4000).SetFormat( “d.dd")
_GainFarm=(_AreaFarm*8000). SetFormat( "d.dd")
_GainFish=(_RA/600*4000).SetFormat( "d.dd")
SumGain=(_GainRice+ GainFarm+ GainFish)
_SumGain=SumGain.SetFormat( "d.dd")

MsgBox.ListAsString({" ="+_GainRice.AsString++"
="+ GainFarmAsString++" ",

" ="+ GainFishAsString++" ",

" ="+ SumGainAsString++" "},

A0/6\ AW Ca|CU|at|0n HOOHOFHIC kkkkkkkkkkkkkkkkkkkkkkkkkk
'Description :Economic Script

'Description :Calculation Economic
'Request  :SumGain,SumCost,_Interest, AreaFarm,AreaRice
'Retumn  :SumCost, CostDam,Costinlet,CostGate, CostCanal

Restore=(SumCost*0.03)
_Restore=Restore. SetFormat( "d.dd")
_CostPop=(SumCost/_TotalPop).SetFormat( "d.dd")
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_CostV=(SumCostV) SetFormat( "d.dd)
_CostArea=(SumCost/((AreaFarm+AreaRice)/1600)). SetFormat( "d.dd)

|********** Ca|CU|at|0n CRF am BC kkkkkkkkkkkkkkkkkkkkkkkkx
B=SumGain
CRF=((_Interest/100)* (( 1+(Jtaterest/100))A30))/
((+(_Interest/100))A30)-I)

C=(SumCost*CRF+Restore).SetFormat( "d.dd")
_BenefitCost=B/C
BC=_BenefitCost.SetFormat( “d.dd")
_NPV=(_SumGain-C).SetFormat( "d.dd")
MsgBox.infoC CRF ="+CRF.AsString+NI+

" C="+C AsString+NI+

" BC ="+BC.AsString,"First")

lculation RA

'MsgBox.infoC'B between C',"Check IRR")
IRR=_Interest
if(B O 1.001) then
for eachiin _Interest.50 by 05
CRF=((ifl 00)¥(( L+(i/100))A30))/
(((+(1/100))A30)-1)
C=SumCost*CRF+Restore
BC=BIC
IRR=i
if ((B00.99) and (BC<1.01)) then
break
end
if (i=50) then
MsgBox.infoO'Exit IRR =50"+NI+
"BC="+BC.AsString+NI+
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"IRR="+IRR.AsString,"False")
Exit
end
end
end
if(BC<0.991) then
foreachiin _Interest.O by -05
CRF=((if 00)¥(( 1+(i/100))A30))/
(((I+(i/200))A30)-I)
C=SumCost*CRF+Restore
BC=BIC
IRR=i
if (BO0.99) and (BC<1.01)) then
break
end
if (i=0) then
MsgBox.infoC'Exit IRR =0"+NI+
"BC="+BC.AsString+NI+
"IRR="+IRR.AsString, False")
Exit
end
end
end

_IRR=IRR.SetFormat( "d.dd")

MsgBox.ListAsString({"sVI ="+ Interest.AsString-H-" %",
" ="+ Restore AsString-H-"

="+ CostV.AsString-H-"u /
="+ CostAreaAsString-H-'

"+ CostPop.AsString++"
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' ="+_BenefitCost AsString,
! ="+_NPV.AsString++" ",
: ="+_IRR AsString++" %"},

MsgBox.Info(" )

1********************************************************

'Description :RoundlO Script
Herkkkkekk Eunction Round Integer By 10

a=Self

d=a/10
'MsgBox.info("a="+a.AsString,"Round 10')
b=a.Truncate

c=ah

if (c>0) then
= *10+10
end

Tkkk k%% Retum Result kkkkkkkkkk
return b

'Description :V Script

'Description :Calculation V
'Request : RAH, Case

ﬁ*********** Calculatlonv kxkkkkkkkkxkkkk

H=Self.Get(0)
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if (_Case=l) then

V=H* RA/3

MsgBox.InfoC'V = "+V.AsString," Volume of Case 1)
end

if ( Case=2) then

V=H* RA2

MsgBox.InfoC'V = "+V.AsString,"Volume of Case 2')
end

Retun V



TAMBON

Coverage : TAMBON

Feature Class :  Polygon

Table Name : TAMBON.PAT

Data Source 1:50,000;

! (Polygon)

Item No. Defined Item Item Type Width Dec Item
Name Description
1 AREA Numeric 13 6 Polygon area
2. PERIMETER Numeric 13 6 Polygon Perimeter
3. TAMBON# Numeric jil Internal Number
4. TAMBON-ID Numeric 1 User-ID
5. PROVCODE Character 2
6. AMPCODE Character 2
7. TAMCODE Character 2
8. PROV_NAME Character 30
9. AMPNAME Character 30
10 TAM_NAME_E Character 30

1. TAM_NAME_T Character 30



Coverage : TAMBON
Feature Class : Arc

Table Name : TAMBON.AAT
Data Source

Item No. Defined Item Item Type
Name
1 FNODE# Numeric
2. TNODE# Numeric
3. LPOLY# Numeric
4. RPOLY# Numeric
5. LENGTH Numeric
6. TAMBON# Numeric
7. TAMBON-ID Numeric
8. TBTYPE Numeric

ltem Description and Code
TBTYPE

Width

1
1
1
1
13
u
i

1:50,000

(Arc)

Dec

From-Node
To-Node

Left Polygon
Right Polygon
Length

Internal Number

User-ID

Item

Description
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Coverage VILLAGE
Feature Class :  Paint

Table Name : VILLAGE.PAT
Data Source

Item No. Defined ltem
Name
1 AREA
2. PERIMETER
3. VILLAGE#
4 VILLAGEJD
5. VILLCODE
6. VIL_NAME_E
7. VIL_NAME_T
8. POPMALE
9. POPFEMALE
0. POPTOTAL
11, TAMBONT
12 TAMBONE
13 AMPHOET
4. AMPHOEE

15, CHANGWAT_T
6. CHANGWAT E
7. WELL_SUM
8. _SUP_SUM
19.  RESERV_SUM
20, WEIRSUM

2. DUGCSUM
22. DUGPSUM
23 SOURCE

ltem Type

Numeric
Numeric
Numeric
Numeric
Character
Character
Character
Numeric
Numeric
Numeric
Character
Character
Character
Character
Character
Character
Numeric
Numeric
Numeric
Numeric
Numeric
Numeric

Character

VILLAGE

Width

u

40
40

30
30
30
30
30
30

50

Dec
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1:50,000, 2.

Item
Description
Point Area
Point Perimeter
Internal Number

User-ID



CONTOUR

Coverage : CONTOUR

Feature Class :  Arc

Table Name : CONTOUR.AAT

Data Source 1:50,000

Item No. Defined Item Item Type Width Dec
Name
1. FNODE_ Numeric un
2. TNODE_ Numeric
3. LPOLY_ Numeric
4. RPOLY_ Numeric 1
5. LENGTH Numeric 13 6
6. CONTOUR, Numeric n
7. CONTOUR-ID Numeric 1
8. ELEV Numeric 4

Elev (

From_Node
ToNode

Left Polygon
Right Polygon
Length

Internal Number

User-Id

Item

Description
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Coverage

STREAM

Feature Class : Arc

Table Name :

Data Source :

Item No.

.
o

Defined Item

Name
FNODE_
TNODE_
LPOLY_
RPOLY
LENGTH
STREAM _
STREAM-ID
STRCODE
STR_NAME T
STRNAMEE

STRCODE

STREAM.AAT

ltem Type

Numeric
Numeric
Numeric
Numeric
Numeric
Numeric
Numeric
Character
Character

Character

STREAM

1:50,000

Width Dec Item
Description

u From-Node

u To-Node

1) Left Polygon

u Right Polygon

13 6 Length

u Internal Number

n User-ID

1

40

40
(Major river)

(Perennial stream)

(Intermittent stream)
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Coverage

FOREST

Feature Class : Polygon
TableName : FOREST.PAT
Data Source

Item No.

Defined Item

Name
AREA
PERIMETER
FOREST#
FORESTID
FOR_TYPE
NAME E
NAME T
SOURCE

Item Type

Numeric
Numeric
Numeric
Numeric
Character
Character
Character

Character

FOREST

1:500,000

Width

13
13
n

40
40
50

Dec

129

Item
Description
Polygon Area
Polygon Perimeter
Internal Number

User-ID
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RESERV

Coverage . RESERV

Feature Class . Point

Table Name :  RESERV.PAT

Data Source 2. :

Y,
Item No. Defined Item Item Type Width Dec Item
Name Description
1 AREA Numeric 13 Point Area
2. PERIMETER Numeric 13 Point Perimeter
3. RESERV# Numeric 1 Internal Number
4. RESERVID Numeric i} User-ID
5. RSJTODE Character 10
6. RS_NAME Character 40
7. VILL_CODE Character 8 ( 020
8. TNAME Character 40 ( )
9. MU Character 2
10.  TAMBON Character 30
1. AMPHOE Character 30
12 CHANGWAT Character 30
13, ST_DATE Date 8
14. FI_DATE Date 8 !
15, RS COOR Character 20
16.  MAPJNDEX Character 10
17 RSAREA Numeric 10 ()
18.  RSSIZE Character 20 ()
19.  RS_CAP Numeric 15 3 AL
20 RSBUD Numeric 15 2 ()
21.  YEAR_BUD Character 4
22. BOOKNO Character 20
23, OWN Character 30
24, COMPANY Character 30
25.  HOUSEHOLD Numeric 4 ! ( )
26.  POP Numeric 6 ()

21. REMARK Character 40



Coverage . SOIL
Feature Class :  Polygon
Table Name :  SOIL.PAT
DataSource :

Item No. Defined Item
Name
1 AREA

2. PERIMETER

3. SOIL_
4. SOILID
5. E_NAME
6. SYMBOL
7. SOURCE

ltem Type

Numeric
Numeric
Numeric
Numeric
Character
Character

Character

SO IL

Width

13
13
1
1
40
20
50
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1:100,000

Dec ltem
Description

6 Polygon Area

6 Polygon Perimeter

Internal Number

User-ID



INDEX

Coverage . INDEX
Feature Class ;- Polygon
Table Name :  INDEX.PAT
Data Source

Item No. Defined Item Item Type
Name

1 AREA Numeric

2. PERIMETER Numeric

3. INDEX Numeric

4. SHEETNUM Character

5. SOURCE Character

Width

13

13

un

50

1:50,000

Dec

132

Item
Description
Polygon Area
Polygon Perimeter

Internal Number



88

1,210

1,120

1480

Vo

8 8

1936

1792
2,368

20

2%

24
30

1,070

376

329

471

1%

1%

68%

68%

68%

68%

68%

68%



1,129

1,726
1,157

1,328

1,212

1,258

A

552

552

552

552
446

552

552

560

560

560

560
407 (

560

560

1,100

1,390

910

1,100

1,100

1,130

I

1,230

880

1,520

1,220

1,230

1,190

(Hydrological data)

g 5

238,600

575,200

195,900

272,900

270,400

319,700

5 1

204,700

488,700

162,600

231,000

235,300

268,300

12.2

7.0

8.4

5.6

74

6.5

4.7

56

3.8

4.9

3.3

4.6

3.6

43

2.9

3.8

10

3.6

2.9

3.5

2.3

31



1321

1,151

1,614

1,429

1,123

A

677

677
543

677

677

677

796

796
572 (

796

796

796

920

1,250

1,120

940

(Hydrological data)

1,140

1,490

1,010

1,190

1,460

3 2

235,300

162,300

472,900

280,500

140,600

S

211,900

132,300

387,200

228,800

128,500

0-10

24

2.9

3.7

2.6

3.7

1.9

2.2

2.9

2.0

2.9

18

2.3

16

2.3

10

13

15

2.0

14

2.0



1,975

2,520
1,633
2,278

2,240

2,911

A

510
400

510

510

510

510

400

524
386

524

524

524

524

386

1,100

1,610

1,530

1,580

1,490

1,510

1,850

1,120

1,230

1,160

1,290

1240

(Hydrological data)

S

280,400

872,100

596,900

792,900

794,400

1,357,100

S

186,700

833,200

544,700

715,400

534,300

790,300

B

111

139

10.6

114

55

58

9.3

71

76

3.7

3.9

12

55

59

2.9

3.0

10

5.6

4.4

4.8

2.3

24



1:50,000
(SH)
SH = H-2 Box Inlet
SH=H-2s Straight Inlet
H =
(VK)?
($+EL LA
2,000 xy[vk
-SL ()
(SL)
EL = ()
2
RA = (. )
VK ()
X2 = VD+VS+VU

<
O
11 11 11 1 Y

= < <
c »
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X, +1x+ +4xl2
VX = e e
2

(RR)
RR = F;éb(\\y(

HT = HA+28 Straight Inlet
HT = HA+20 Box Inlet

HT<70 .
HT>70 .

AT <2,000 00.40 .
AT >2,000 0 060 .

(HT)
HT<50 LA- EH ( )
HT>5.0 . oA 00 )



50 /
Qe g (B
Qu<20 ./ Q=2 ..

- 0<Qa< / Qng=30 . J

- 30<Q,, < 40 / (=40 ./

- 40<Q.u< %0 / E0 ./

- 50<Q@ < &0 | QG0
60<Q.u< 70 / m= 70 ./
70<QQt < 80 / Q= 80 ./
80<Qm< D / Ona= 90 /
Qat < 90 e

(HS)
HST = - -HC
-HC = 20 Box Inlet
-HC = 28 Straight Inlet

= +2

- - (H)
HST<5.0 . HS=50 .
50<HST<75 . HS=75 .
HST>75 . HS=100 .
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(LS)

510 . (Straight Inlet)

(LS) = % o LS I\

Qout = (.1 )
=4 ] |. Head=18 .
510 . (Box Inlet)

(LS) = = ( LS )

Qout = ( ./ )

=35 ./ [. Head=100 .



500

- 077L (295 Hos L% H)
= 01 L (295 H2+ 156 H)
= 067L(333+ LU4H)
= L (0.60+ 004 H)

= 179LH

=301 3
= 056LH 3

= ( 30015+
{ (. .)060}

5.00

= 077L (0.45+ 540H)
= 01L (045+540H) . .
= 067L(375+1BH) . .+042LH

= 080L
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/ / /
1. . 41.38 417 5155
2. 14.74 055 1529
3 56.49 4.17 60.66
4, 203.00 4.17 20117
5 336.00 66.00 402.00
6. 2500 1450 3950
T 4750 250 50.00
2
. 2542
0 400 . = 7128 8,580
o 600 . [ 14,784 17,683
0 400 . [ 8,980 10.2%
o 600 . [ 16,8% 20,196

(2542)



b 4
3101 (@1HUIN)

(3]

=100 .

c= 1331 +0.173
c= 1260+0215

C =2.112t10.201
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c= )
= (
= x 1.20

i —X—a=50u.
1 —X¥—q=75u.
. —&—q=100u.
g
|
|
| T
' 1
0 5 10 15 20 25 30



=50 . ¢ =2.331+0.090

=75 . ¢ =2.871+0.112

=100 . ¢ = 3300+ 0.136
C: )
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= x 1.20
25 1
|
|
I
R
|
20
1
—H—q=50u.
R e —H— =75
=
=
= ——1=10.0.
Ac
€
v
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0 - { :
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0 %

672,100 806,520 2542
201,300 241,560

(2542)



GIS

GIS

Scripts
ArcView

Graphic

L (Monitor)
VGA 640x480
.26 )

GIS
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GIS CPU Pentium |

3 (RAM)
( RAM )
(RAM) GIS
16 (MB)
(Vertual Memory)
RAM RAM
4,
ArcView
Microsoft Windows, ArcView
GIS
13 GB( GIS)
o) (Floppy Disk Drive)
1 312 144
MB
GIS
1. Microsoft Windows GIS Scripts
ArcView RUN

Microsoft Windows Microsoft Windows Windows' 95
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2. ArcView GIS
RUN  Scripts ArcView Version 31
RUN  Microsoft Windows

3. AutoCAD R.14

Graphic Computer Aided Design Drafting (CADD)
4, ARCI/INFO
Mainframe UNIX
Graphic

Topology  Coverage
(Spatial Relationship Data) ~ Feature
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il 2516

2538
.. 2539



	รายการอ้างอิง
	ภาคผนวก
	ภากผนวก ก
	ภาคผนวก ข
	ภาคผนวก ค
	ภาคผนวก ง
	ภาคผนวก จ
	ภาคผนวก ฉ

	ประวัติผู้วิจัย

